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2tSstat 18 125 6.9 18 1.8
Lol2X| 2 Astat 10 92 9.2 10 4.3
IPCCEET Rt 13 84 6.5 13 2.7
2a2|X|2stnt 12 100 8.3 12 23
HEAFAM B} 14 154 11.0 14 3.0
x|7| 2t} 13 148 1.4 13 3.4
1223045k} 17 120 7.1 16 4.2
o10{ X 2HX| 28k} 14 95 6.8 14 3.8
N paL-ta 1 8 29 3.6 8 45
s 2stnt 10 57 5.7 7 5.6
Bh2As X st} 12 44 3.7 6 5.5
Ao 2ekn} 12 63 5.3 10 5.3
ADEQo{Etnt 12 35 2.9 8 5.1
Agstat 19 124 6.5 9 55
SQEAHAWS} 12 86 7.2 7 6.1
AU e} 12 105 8.8 9 5.7
Af2| X[kt 6 39 6.5 6 3.8
AL2| S X| & etekat 6 26 4.3 6 3.8
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2tS st} 9 42 4.7 9 1.8 2.2 1
UetHa|stnt 3 12 4.0 3 35 3.7 3
S2|x|2stat 5 31 6.2 5 2.3 2.5 5
e, 5 17 3.4 5 3.6 4.3 5
X|2| 3stat 2 16 8.0 2 4.7 5.3 8
HAZYPetn 2 8 4.0 2 4.8 6.0 4
o H2tX| 2 stat 2 17 8.5 2 4.0 4.6 3
At=| S X[kt 2 14 7.0 2 35 3.9 -
Ats| S X| At ehstat 2 9 45 2 5.8 6.4
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